HYDRAULIC PUSH-PULL CYLINDERS | #HBYHEEEIZRSI

CHTB

S8 B S B £T

CHTB HYDRAULIC
PUSH PULL CYLINDER

EmFIE

BRI, BHETE ETHERAIEE
B, BEARE, BEETE THHETR
1, PEERAS.

IS EEIR SIS R, BBk
INTEEE, REDGE, ERSmR. o,
BIESHEIRALRACE, et EERasEE.

BAXIR(EEES: 140 kgf/cm?
RINMEERES]: 5 kgf/em’
e85t EE

EI=E

PIEERTHE, EUREANESH.
CHTB-LAMAOCHTB-
LWMZRZI, {TR210mmiERHRE R o,

F1:3EHPush out <«—

F2:8IA\Pull in

109 | & i [ £ K 5

FEATURES

Compact construction for space saving. Ideal for
application in a restricted space.Standardized
specifications. Direct installation without need of any
further accessories for saving cost.
The cylinder barrel is made of structural carbon
steel. Internal surface is specially treated.
Smoothness and long service life.Axial and side
manifold type without upgrading pipe , made the
cylinder appearance look better.

Max. operating pressure : 140 kgf/cm’
Min. operating pressure : 5 kgf/cm’
Double acting

NOTE

You are welcome to order the special strokes under request.
CHTB-LAM and CHTB-LWM type,the stroke is 10mm
without key.

—>

ZImEE Sectional view

TEER

N

£TEE#Z7Ri% ORDERING INDICATION
7l: CHTB-SD32-20N
CHTB 7%l Series

peeice

SD Mounting type

3p  HEE

Hydraulic cylinder inside diameter

20 1E#E{TFE Standard stroke

N Tt Rod end type

#2805 SPECIFICATION

AR EEEE  ZEEE

HYDRAULIC CYLNDER ~ PISTON PRESSURE
INSIDE DIAMETER(mm) DIAMETER(mm)  AREA(CMY)

F1 F2
®20 P12 3.14 2.01
@25 14 4.91 3.37
@32 @20 8.04 49
@40 ®25 1257  7.66
®50 ®30 1964 1257
®63 ®35 3117 2155
@80 ®45 5027 3437

CHTB

SD: L p e ie]
SW:  EfmEEhEaeR
SDMA: #hETHERE
SDMB: #ial&iHEsiREY
LA: {RlIm EE Ry
LW: AR
LAM: (it esthse sy
LWM: (Al hisi e aessty

Axial single end rod type

Axial double end rod type

Axial front manifold type

Axial back manifold type

Lateral single end rod type

Lateral double end rod type

Lateral manifold single end rod type
Lateral manifold double end rod type

®20, 25, ®32, P40, ®50 , P63, D8O

5mm,10mm,15mm,20mm,25mm,30mm,35mm,40mm,50mm
He {71252k E5: For other stroke, please inquire.

N: RF N: Female thread
W: 9hF W: Male thread
BEES

OPERATION PRESSURE(kgf/cm’)

10 35 70 100 140

F1 F2 F1 F2 F1 F2 F1 F2 F1
31 20 110 71 220 141 314 201 440
49 34 172 118 344 236 491 337 687
80 49 281 172 563 343 804 490 1126
126 77 440 268 880 536 1257 766 1760
196 126 687 440 1375 880 1964 1257 2750
312 216 1091 754 2182 1509 3117 2155 4364
503 344 1759 1203 3519 2406 5027 3437 7038

(EFEEE: HERISOREEARAIISO-VG-32—RRIREEH
Usable fluid: General Hydraulic Oil Equivalent to 1ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS | 110

F2
281
472
686

1072
1760
3017
4812

ERREEE

RANGE OF
TEMPERATURE(°C)

-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C



CHTB Hydraulic axial mounting type SDMA & SWMB Unit:mm

. ag = ‘&IJ-I |J o ag [l = ‘AIJ-I |J . —‘-‘—i T\-A.I.l |J
SD- N [m) B 2 Bim A 7 B SD-Wia ST g < i N F 2 SDMA-NE BT HES R Shim 7 5 Bore  ®20 ®25 @32 40 50 P63 P80
2-PT H N A 59 53 64 65 71 80 95
H
e =S R ] O1-Ring - P1 N Ha AL 77 1 120 14
’fjijé;;i*j’é @i @ @ B & S b — > 89 95 06 0 0
Q) © ® O ©Q &8+ B 43 45 54 55 60 67 78
o hid a fa © &=
4>} e o — — I — — =
| A “ > § 2+ A{O) o+ §Y———- - C g8 8 10 10 11 13 17
N\ @ )@\ ‘C_LJ @=—====}
B I bl e R ~— bttt R ‘ r-——————- ] CL 6 6 7 7 8 10 14
i 1£ O 1O e i ©hnmi©) H==0
P2+ST|_ P1 | A+ST WL W, C B+ST D 12 14 20 25 30 35 45
B+ST C > o A+ST
OF AL+ST oE swW 10 12 17 22 271 32 41
A+ST OE
E 42 48 62 70 80 94 114
F 30 36 47 52 58 69 86
SW- N[t 2 dim A oF B SW- Wi el 8 %5 < Bl F 2 SDMB- N[5 2 Bhim A 75 H 55 55 65 9 11 13 15
2-PT T‘H’ K 5.6 5.6 6.8 9 11 13 15
e ey gi i -7} M 9 9 11 14 18 20 22
L —F————— Y ——— 1= T -
) @ N M8x1.25 M10x15 M12x1.75 M16x20 M20x2.5 M27x30 M30x35
A . . x12D x15D  x15D  x20D x25D  x35D  x35D
N o 777@577777 v ] 77777@ 777777 I ® HEHE7L Push out W MI0125 Mi2d25 Mi6x15 M22x15 M26x15 M30x15 M39x15
i == :,\Q i T 1 ALNESL Pull in WL 20 22 25 30 35 40 45
CL L ———r————1 —— i L+ |
P3+ST | P1 wi | cest BBasT |l w P1 165 195 24 27 32 38 47
C+ST BB+ST @ ‘
AN ST AW+2ST SDMA R1 13 18 24 26 27 35 45
.
SDMA- EIY IR
LUl o1 P3 P4 P6 P6 P6 P8 Pl
ST=Stroke
P2 13 16 20 24 29 35 44
SDMB R2 11 13 20 20 20 26 30
== 02 P5 P7 P9 P9 P9 PIT PIT
CHTB Hydraulic axial mounting type SD & SW Unit:mm I ""Wf@fi
Bore 20 25 32 40 50 63 80 100 =1 %**’;;;
A 51 53 64 65 71 80 95 105 ]
AL 7 75 89 95 106 120 140 165 i
AN - - 89 el 97 108 127 140 WL A+ST
AW - ~ 139 150 167 188 217 260 AL+ST
B 43 45 54 55 60 67 78 88
BB — ~ 69 70 75 82 93 106
C 8 8 10 10 11 13 17 17
cL 6 6 7 7 8 10 14 14
D 12 14 20 25 30 35 45 56 SDMB-WEH a5 R < imh o 2L
swW 10 12 17 22 27 32 41 50
E 2 48 62 70 80 % 114 134
F 30 36 47 52 58 69 86 102 P2
H 55 55 65 9 11 13 15 175 O2-Ring [
K 56 56 68 9 11 13 15 18
M 9 9 11 14 18 20 22 26 .
N M8x125x12D  M10x15x15D M12x1.75x15D M16x20x20D M20x2.5x25D M27x3.0x35D M30x35x35D  M36x4.0x40D ® #EHiHFL Push out
w M10x1.25 M12x1.25 M16x1.5 M22x1.5 M26x1.5 M30x1.5 M39x1.5 M48x1.5 HINGHFL Pull in
WL 20 22 25 30 35 40 45 60
P1 225 23 28 28 295 31 33 39
P2 11 12 14 15 18 20 27 28
P3 - - 13 14 16 20 27 28
R 5 5 10 10 10 10 15 15
PT 1/8 1/8 1/4 1/4 1/4 3/8 3/8 3/8

1M1 | & E R 5 PNEUMATIC & HYDRAULIC CLAMPS | 112



CHTB Hydraulic side CHTB Hydraulic

mounting type LA & LW Unit:mm manifold type LAM & LWM Unit:mm
20 FmssT #1778 < 20RYmEIE R AR
2-PT
LA- NI BB B A e el Bore ®32 ®40 @50 ©63 R R oSt o Bore ®32 40 50 63
e T
& A 64 65 71 80 O (y A 64 65 71 80
< f| — B o)
= JE o~ > AL 89 95 106 120 < JEf,i_,,,g AL 89 95 106 120
\\ZJ I~
A 7 >
@) @A AN 8 9 97 108 o @ AN 8 9 97 108
P1 2+ST]  \4-2K AW 139 150 167 188 P1_[P2+ST| \ 4 o AW 139 150 167 188
N oM B 54 55 60 67 " B 54 55 60 67
| | | | | oM
(T 1710 | E: BB 69 70 75 82 L/ ‘ [ BB 69 70 75 82
] ] N N irl ‘ Lrl _L_I_J—LU' T
4 |l il I c |10 1w 11 1 it i T c 10 10 11
B -t 8 — i o 10 3 2 16D g I o 10 3
= [N/ al L cc 7 7 8 10 3 [N/ i JI— cc 7 7 8 10
i =E S 3 | I R )
sw] CKa_lw 2 D 2 25 30 35 SW] k| [oking D 2 25 30 35
+ST KL c B+ST
A A+ST swW 17 22 271 32 EA AxsT swW17 22 271 32
EA 70 80 94 114 EA 70 80 94 114
EB 56 64 74 89 EB 56 64 74 89
20 _FF+ST 2-PT
— IH 25 29 34 4 20__FE+ST_ 0-Ring IH 25 29 34 4
\&Jj K\y/ LW-NE 88 i 2 O LWM-N IS R A i 2
© FA 5 62 74 9 N4 / FA 5 62 74 90
< R - N Z
“JUE o o B 24 23 27 3 &JE ***** R FB 24 23 271 3
\\ZJ N
B @ FF 32 32 35 42 @D @ FFE 32 32 35 42
PTE3+5T a0k H 9 11 13 15 P1_P3+ST| \4-0K H 9 11 13 15
5 K 9 11 13 15 K 9 11 13 15
o o
| | | |
—L_l_J— \ T M 14 18 20 22 _w—|%l_ = - M 14 18 20 22
T KEY N MI2AT5 MIG20 MRS M27i30 | i N MI2A75 MIG20 M20QS M2730
[a] Lo_gog g AL A Na) X X X, X bt Il X X X X
§ Qs S T s ZE
all A l& f - ﬂ < W MI6x15 M22x15 M26x15 M30x1.5 ] }i}“‘ i o LK W MI6x15 M22x15 M26x15 M30x1.5
. e KT . ey Al | € ST=Stroke
~ A il T-Stroke WL 25 30 35 40 kAW | _o-Ring WL 25 30 35 40
C BB+ST C+ST C BB+ST C+ST
ANTEST Pl 28 28 295 31 ANZ2ST Pl 28 28 295 31
P2 14 15 18 20 P2 14 15 18 20
P3 13 14 16 20 P2 13 14 16 20
LA- W B B o LW- Wi s o R 0 10 10 10 LAM- W R R e 2 s 2 LWM- Wl e B s 2 . 0 10 10 10
PT  1/4 1/4 14 3/8 O P9 P9 P11 PN
| | | |
—L 11§ [ TH] Kw 12 12 14 16 | } _ij'r'—Lvir'_ Kw 12 12 14 16
) ] ] Iy i |
| ‘ | | ‘ | | ‘ | | ‘ | (N (N (N (NN
Nl i KT 8 8 9 10 B i i i KT 8 8 9 10
o Y 0 e e |l SR R A i = E
i i i i ‘ i i ‘ i i i i . o= . 2 120 | | }m W | ‘ }m m} ‘ | KL 63 70 80 100
N ik ik AR Al AL il | |
WL A+ST WL | C BI:;Z:ST C+ST | WL KA 28 28 29 31 WL ‘ A+S=TZ= WL | ¢ | BBST C+ST | WL KB 4.5 4.5 5 55
+S +
ALST A2ST KB 45 45 5 55 A AW 25T KA 38 38 40 42

113 | & E 5 &R 5 PNEUMATIC & HYDRAULIC CLAMPS | 114



ETEE1E;Ri% ORDERING INDICATION
5f5): CHTM-SD32-20N-S1

CHTM &7l Series CHTM
SD LEB, SD: #EfmEERZEERISingle end rod type
Mounting type SW: Eha kL dERiDouble end rod type
THET AT
32 i—lydrau{(ﬁ:c cylinder ®32, ®40, ®50, P63, P8O
inside diameter
TEEEITIE
10,2 4
20 Standard stroke 0.20.3040,50
N Ll N: A% Female thread N
Rod end type W: 4tFMale thread W
— —{&S1,2{@S2 1pcs of S1, 2pcs of S2
s1 g;sﬁsa e BIFDC 4-24V AC4-120V  Pressure DC 4-24V AC4-120V
ensor switc E75-40mA Electricity 5-40mA
SD- N B it 2 B 7 5L SD- Wi Eai e 2 Bt N
2-PT H
-
TR N ————— —— e Bl
T %::j;ﬁ E[ g =—————"
) ©
o \Z % A A ;[
N o 8 [ D S o
£ 17\
© S © =
e = e =
+-++-—-—-—-HCL G- —t-1
[ it S -+ e -
P2+ST P1 A+ST WL
B+ST S AL+ST
A+ST
SW- N 2o 2 i A 2 SW- W[ e 2 lin o B
2-PT H
S 1
S |- @ —_
JE == xR - =F
N —
[ I S
w C+ST BB+ST clowL
C+ST BB+ST C AW+2ST
AN+2ST
ST=Stroke
CHTM Hydraulic axial mounting type SD & SW Unit:mm
Bore P32 40 ®50 P63 80
A 83 80 86 97 112
AL 108 110 121 142 167
AN 104 101 109 120 140
AW 154 161 179 210 250
B 73 70 75 84 95
BB 84 81 87 % 106
C 10 10 1" 13 17
CL 7 7 8 10 14
D 20 25 30 35 40
SW 17 21 27 32 37
E 62 70 80 9% 114
F 47 52 58 69 86
H 6.5 9 1" 13 15
K 6.8 9 1" 13 15
M 11 14 18 20 22
N M12x1.75x15D M16x2.0x20D M20x2.5x25D M27x3.0x33D M30x3.5x33D
w M16x1.5 M20x1.5 M24x1.5 M30x1.5 M36x1.5
WL 25 30 35 45 55
P1 27 27 28 30 35
P2 29 27 31 36 38
P3 30 27 31 34 36
R 10 10 10 10 15
PT 1/4 1/4 1/4 1/4 3/8

i1 (EREH210MPals, GIESHFERANHEITE,

115 | &M E &L R 5



	页 10
	页 11
	页 12
	页 13



